Mid-Term Exam for Pre-Algebra
Chapters 1 – 3
Directions: Show all work. Put your answer in the space provided. Do NOT use a calculator unless specified. You may use your packets and other notes you have taken but not your book.

	Vocabulary:

	1. A letter that represents a number is called a(n) __________.

2. The answer is sometimes called the __________.

3. A(n) ________ could be a negative whole number, a positive whole number, or 0.

4. A number in front of a variable is called a(n) __________.

5. A term without a variable is called a(n) __________.

6. A graph that shows the relationship between two sets of data is called a(n) __________.

7. The point (0, 0) is called the __________ and is where the x-axis and y-axis intersect.

8. The __-axis is the horizontal axis (left-to-right), and the __-axis is the vertical axis (up-to-down).
	1. _______________

2. _______________

3. _______________ 

4. _______________

5. _______________

6. _______________

7. _______________

8. _______________

	Skill Problems:

	9. What is the next term in the pattern below:

1, 1, 2, 3, 5, 8, …

10. Evaluate m – n + 5, if m = 19 and n = 8

11. Which property describes 3 + 7 = 7 + 3?
12. 16 – 6 + 4 ∙ 2 =

13. (5 + 7) ÷ (5 – 1) =

14. 2[(9 – 5) ∙ 4] =

15. |-10| + |4| =

16. -6 + -8 =

17. 9 + -22 =

18. -4 + 10 + -6 =

19. 11 – 19 =

20. -13 – 14 =

21. -9 – -17 =

22. -4 · 5 =

23. -24 ÷ -4 =

For problems #24 through #26, replace  ?  with <, >, or =

24. -6  ?  -12
25. 3  ?  -12

26. -3  ?  0

For problems #27 – #30, use the coordinate plane below.
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27. What is the coordinate of point F?

28. In which quadrant is point A?

29. Which point is at (3, -2)?

30. On the coordinate plane above, plot and label the point (-5, 7).

31. What is the average of -1, 6, 8, -4, -3, 0?

Simplify the following expressions

32. -3 · 7p =
33. –2(3 + 4x) = 

34. 7v – 11 – 10v + 7 + v =

35. 3(-2x + 8) + 4x – 7 =

Solve the following equations

36. b + 9 = -14 

37. y – 3 = -1

38. 6x = -42
39. 
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42. 8(n – 5) = 32
43. Translate into an algebraic equation:

the quotient of a number and negative two plus 4 is five
44. What is the perimeter and area of a rectangle that measures 4 inches by 7 inches (include the units)?
45. A car travels for 4 hours at 50 miles per hour. How far does the car travel (include the units)?
	9. _______________

10. ______________

11. ______________

12. ______________

13. ______________

14. ______________

15. ______________

16. ______________

17. ______________

18. ______________

19. ______________

20. ______________

21. ______________

22. ______________

23. ______________

24. ______________

25. ______________

26. ______________

27. ______________

28. ______________
29. ______________
30. ______________

31. ______________

32. ______________

33. ______________

34. ______________

35. ______________

36. ______________

37. ______________

38. ______________

39. ______________

40. ______________

41. ______________

42. ______________

43. ______________

44. ______________

45. ______________

	Open-Ended Questions:

46. What is the difference between deductive reasoning and inductive reasoning?

47. What is the order of operations? Explain.

48. In your own words, describe what inverse operations are. Give an example.

49. Explain the difference between the area and the perimeter of a shape.


	Exploration Problems:

	50. The equation below describes the relationship between hours of study time and exam scores (up to a grade of 100). 
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a. Make a table of 5 values that fit this equation

X

(hours)

Y

(grade)

b. Plot your points from the table on the coordinate plane below
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c. What type of relationship (positive, negative, or none) does the graph below represent? 

d. If a student studies for 1.5 hours, approximately what grade will s/he get?
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